Diamic

AUTOMOTIVE

SERVICE PARTS

/ASSORTMENTS

And Innovative Storage
0 Solutions
Ll
il
)

Jp JohnDow Industri T m
D JohnDow Industries o

OOOOOO



/ Automotive Service Parts and Storage ........cccc000ee... 3 & 4

Oil Drain Plug & Gaskets .......cccceeeececcccccssnnneessnnceeceeesd & 6
DY-DPA-6 - Drain Plug & Gasket ASSOTtMENT .............ooccceveeereeeeeeeeeeeeeevesessmmsesssssssssnneees 5
DY-DGK-240 - Master Drain Plug Gasket ASSOMtMENt ........ooeeeeeeeeeeeeeeeeeeeveemsesassssseneee 6
Wheel Hardware.......ccccccveeccesssccccsssscssssssscssssssssccsss 1 = 9
DY-WS-1 - Wheel StUd ASSOTEMENE ....ccooveeererrcccrmereeneeessmennensessssssssesesesssmsssessssssssessesees I
DY-WN-12 - Wheel Lug Nut ASSOITMENT ....ureeeeeeeeeeeseseeeeeeesssssssssassssssseseee 8
DY-WN-12B - Wheel Lug Nut ASSOTEMENT ... eeeeesseeseeeessssssssseeessssssssaneens 9
Electrical = Terminals .......cccccceeecenecccnscccnsescenseccess 10 & 11
DY-TC-150S - Shrink Terminal ASSOMMENT......oooceveeeeeeesemeeeeeeessisneeeeseessessseessessseseee 10
DY-TC-330 - Pro Terminal ASSOMTMENT ......vvvvveeeeeeeeeeeeenrressessssssssssssssessessssssssssssssssssseee I

DY-FK-135 - Plug-In FUSE ASSOTTMENT.......ceeessssssssssssssssssssssssssssssees 12
DY-FY-65 = PrO FUSE ASSOTEMENT ..ot sseesesesseeesseeessssassesessssessesens 13

Brake LiNe.....ccceeceeeeeecceeeecccseeccssececcseeeccsseeccssencesseee 14 = 16

DY-BA-6 - Master Cyliner Brake Ling AdApLer ...........mmmeeeeeeereeeeeeeessssssssssssssnenees 14
DY-BLF-5 - Master Brake Line Fitting ASSOrtmMeNt ........ccoeeeeeeeeeeeeeeeeeeeeeeessmnsesssseeen. 15
DY-BSA-3 - Bleeder SCrew ASSOTTMENT............sssssssssssssssssssssssssssssssssssssnseees 16

FUEH LINE «eneeeereeeeceoeeeccsseeccosseccssseeosssseosssseosssssesssssesssssees | 1

DY-FLA-2 - Fuel Line Repair ASSOTtMENT...........coooeeeveeeeeeeeeeeeseessssseeeeessesssssesessssssssssens 17

AULO BOUY ..cceeeeeeeeeeeenneeeeeeeeeeseesssesssssssssessssseoseeceeees 18 = 21

DY-6000U - Domestic Retainer ASSOMMENt........cccccevemmmeeeeeeessmmneeeessessmssseesssssseneee 18
DY-7300 - Master Universal Trim Screw ASSOMtMeNt........oooeeeeeeveeerrrresesssssseessneeen 19
DY-7400 - Master Body BOIt ASSOTEMENT...........oovveveeeeeeeeeeecesseeeeeeeeeessssssssssessseeeee 20
DY-DLC-24 - Door Lock Rod & Linkage Clip ASSOrtMENt .........ceeeevvveveveevvvevveesaesseseen. 21

Miscellaneous 0000000000000 0000000000000000000000000000000000000000000000000 22
DY-VT-235 - Vacuum T ASSOTTMENT ..ot eeee e seeesseessesesseeen 22

Optional Storage Solutions.........cccceeeeeeeeeeeeeeeeeeeeeeeeeeeeeee 23

@JohnDowlndustries/ JounNnDow.com




Automotive Service Parts

Profit and productivity always take a hit when inexpensive service parts are not readily available. Trying to locate, source or wait for delivery of
a low cost item results in idle service bays, wasted technician time and lost profit.

And, without a system to keep those parts organized, easy to find and easy to reorder, your service parts inventory can evolve into a
collection of half-used kits, duplicated assortments, obsolete parts and wasted money.

The JohnDow automotive service parts assortments program solves these problems. JohnDow has combined the most popular small service

parts in key service categories with an innovative and easy-to-use storage and organizing system. It is designed to save the professional
installer time and money by making key service parts readily available and affordable.

Service Parts Assortments

JohnDow has developed 18 assortments that include the most popular service parts for these key service categories:

® Ol ceerreeeeeeennsesnsennnnes Drain Plugs & Gaskets Each assortment comes in a ovairs [
. Wheel Studs and Lug Nuts durable plastic casethat
. Fuses and Terminals keeps all of the parts organized LINEFITTING.
. Brake Line Fittings and and easy to find. SRssomiMENT
Bleeder Screws
* Fuel Fuel Line Repair The detailed lid insert —
* Auto Body Retainers, Trim Screws, Body Bolts identifies each fitting SRR e g T
* Misc Vacuum Tees and Caps with a picture of the part, R e )
size and description. Reorder ok )
part numbers, quantities and s
UPC codes are also shown. ;
W o i -
P e d

Tower Storage Solution Cabinet

The JohnDow Tower Storage Cabinet is the perfect solution for small parts storage.
It is designed to hold up to 12 different assortments of the most popular service
parts. The space saving and compact design easily fits in the service area keeping
parts easy to access and organized.

* Compact design (assembled) measures 14-1/2"W x 13"'D x 46"'H
* Adjustable drawer tabs keep assortment boxes secure
* Heavy-duty steel construction with durable black powder coat finish

S1dvd doINddS

Includes:

¢ 3-DC-S4 Slide Drawer Cabinets
¢ 1- DC-BASE Tower Base

* Mounting hardware

No. DC-TOW

Sliding Drawer Cabinets

* Holds four different assortments
 Compact size easily fits on workbench or shelf
* Measures 14-1/2"W x13"'D x 11-1/2"H

No. DC-S4




SERVICE PARTS

Automotive Service Parts Assortments
Pro Series

The JohnDow/Dynamic Pro Series assortments are designed for the professional automotive service provider. These
assortments contain the most popular small service parts used in the key service and repair categories. With the
JohnDow/Dynamic Pro Series assortments you will have the right part when you need it - saving time, money and bay downtime.

SERVICE ASSORTMENT
DESCRIPTION CONTENTS
CATEGORY NoO.
DY-DPA-6 DRAIN PLUG & GASKET 18 OF THE TOP MOVING OIL DRAIN PLUGS AND TwO
ASSORTMENT FIBER OE ALUMINUM GASKETS.
24 OF THE MOST POPULAR STANDARD AND OE
o
GASKETS FOR DOMESTIC AND IMPORT CARS AND
MASTER DRAIN PLUG
DY-DGK-240 LIGHT TRUCKS. TYPES INCLUDED - ALUMINUM,
GASKET ASSORTMENT

COPPER, CRUSH, FOLDOVER, FIBER, NYLON AND
RUBBER/METAL.
24 OF THE MOST POPULAR OE EQUIVALENT LUG
NUTS FOR DOMESTIC AND IMPORT CARS AND LIGHT

DY-WN-12 WHEEL LU NuT
TRUCKS. STYLES INCLUDED - STANDARD, DOME,

DY-WN-12B ASSORTMENT
WHEEL ACORN, BULGE AND EXTERNAL THREAD. (DORDER

BOTH ASSORTMENTS FOR FULL COVERAGE.)

DY-WS-1 WHEEL STUD TorP 12 DE EQUIVALENT WHEEL STUDS.

ELECTRICAL -
TERMINALS

DY-TC-1508

SHRINK TERMINAL
ASSORTMENT

24 OF THE TOP HEAT SHRINK ELECTRICAL
TERMINALS. INCLUDES - BUTT CONNECTORS, RINGS,
SPADES AND DISCONNECTS FOR WIRE

SIZES 22-18, 16-14 AND 12-10.

PRO TERMINAL

23 OF THE TOP VINYL INSULATED ELECTRICAL
TERMINALS. INCLUDES - BUTT CONNECTORS, RINGS,

DY-TC-330
ASSORTMENT SPADES AND DISCONNECTS FOR WIRE
SIZES 22-18, 16-14 AND 12-10.
BN £ PLUG-IN FUSE 24 OF THE MOST POPULAR ATM, ATM LOW PROFILE
ELEETEIEAL - ASSORTMENT AND ATO BLADE FUSES.
FUSES
24 OF THE MOST POPULAR MICRO-2, MAXI, J-CASE
DY-FY-65 PRO FUSE ASSORTMENT
AND J-CASE LOW PROFILE FUSES.
MASTER CYLINDER TOP 16 MASTER CYLINDER LINE ADAPTERS.
DY-BA-6 BRAKE LINE ADAPTER INCLUDES - METRIC TO METRIC, SAE TO METRIC AND
ASSORTMENT SAE TO SAE.
23 OF THE MOST POPULAR FITTINGS FOR THE REPAIR
OR REPLACEMENT OF MOST DOMESTIC AND IMPORT
BRAKE MASTER BRAKE LINE
DY-BLF-5 BRAKE LINES. INCLUDES THE MOST POPULAR - TUBE
FITTING ASSORTMENT
NUTS, UNIONS AND BRAKE LINE ADAPTERS. USE THE
DYNAMIC COILED BRAKE LINES
BLEEDER SCREW 24 OF THE TOP BLEEDER SCREWS, COPPER
DY-BSA-3
ASSORTMENT WASHERS AND CAPS
FUEL LINE REPAIR 24 OF THE TOP CONNECTORS, FITTINGS AND
FUEL DY-FLA-2
ASSORTMENT CLAMPS FOR FUEL LINE REPAIR.
DY-6000U DOMESTIC RETAINER 23 OF THE MOST POPULAR RETAINERS FOR DOORS,
ASSORTMENT TRIM AND SHROUDS.
UNIVERSAL TRIM SCREW | 24 TRIM SCREWS INCLUDING PHILLIPS, TORX AND
DY-7300
ASSORTMENT TEK.
AuTo Boby MASTER Bobpy BoLT 24 OF THE MOST POPULAR BODY BOLTS AND
DY-7400

ASSORTMENT

U-NuTs.

DY-DLC-24

DoOoOR LOck ROD &
LINKAGE CLIP
ASSORTMENT

21 DOOR LOCK ROD CLIPS FOR CHRYSLER, GM AND
FOR VEHICLES.

Misc

DY-VT-235

VACUUM TEE
ASSORTMENT

24 OoF THE MOST POPULAR TEES, SPLICES AND
CAPS.

@JohnDowlndustries/ JoHNDOW.cowm




Oil Drain Plug & Gasket Assortments
Drain Plug & Gasket

Most popular oil drain plugs and gaskets

o 22 parts numbers * 88 total pieces
Re-order Part # DP-033-B-3 Re-order Part # DP-034-B-3 Re-order Part # DP-038-B-3 Re-order Part # DP-049-B-3 Re-order Part # DP-052-B-3 Re-order Part # DP-053-B-3
Drain Plug - Std Drain Plug - Pilot Point Drain Plug - Std Drain Plug - Pilot Point Drain Plug - Pilot Point Drain Plug - Pilot Point
MM 1 5 M12-1.75 M12-1.25 M12 1. 25 1/2'-20 MM 1 5
.3 aty. 3 aty.

7 |o1e45 70483 s 7 IL!L 7!!! 3 7 |ola45 70!!;!1' o 7|0|1545 7!:539 1 7 |01345 7089315 7””!!‘1“5‘ 7‘0”49‘1| s
Re-order Part # DP-058-B-3 Re-order Part # DP-059-B-3 Re-order Part # DP-075-B-3 Re-order Part # DP-079-B-3 Re-order Part # DP-091-B-3 Re-order Part # DP-098-B-3
Drain Plug - Pilot Point Drain Plug - Pilot Point Drain Plug - Std Drain Plug - Pilot Point Drain Plug - Magnetic Drain Plug - Pilot Point
1/2'-20 M12-1.75 MM 1 5 M1Z 1. 75 M12-1.75 Mu 1 5

aty.3 aty. 3 aty.3
maJs 70!91 3 7 Io”s'Us 7!)‘ sal o |o1s45 7049: 7 |o1s45 70495| s 7 |(|)‘|1‘|B|‘4||5‘ U!JML 1 7|ma 4517049718

s = |

2 4

Re-order Part # DP-115-B-5 Re-order Part # DP-153-B-3 Re-order Part # DY-DP-156-B-3 Re-order Part # DP-161-B-5 Re-order Part # DY-DP-171-B-3 Re-order Part # DY-DP-211-B-3
Drain Plug - Pilot Point Drain Plug - Pilot Point Drain Plug - Pilot Point Drain Plug - Pilot Point Drain Plug - w/Washer Drain Plug - Pilot Point
M14 1 5 M12-1.75 M12 1. 75 M14-15 M14-15 MM 1 5

Qty.5

704!

0

Qty. 3
|o1 UU 70

'01845

70890'

01 845

‘, 7|

99

o=

il i

'01845

70498’

7|

|5

7

91

4

O:=

Re-order Part # DY-DG-46B-10 Re-order Part # DY-DG-45B-5 Re-order Part # DY-DG-156B-5 Re-order Part # DY-DG-29B-5

Gasket - Fiber Gasket - Fiber Gasket - Aluminum Gasket - Aluminum
M12 M14 M12 -Toya(a Lexus Scion M14
aty. 10

9-vdadd-Ad

T 11 iln
PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
DP-033-B DRAIN PLUG 14MM-1.5 3 DP-033-B-3 3
DP-034-B DRAIN PLUG 12MM-1.75 3 DP-034-B-3 3
DP-038-B DRAIN PLUG 12MM-1.25 3 DP-038-B-3 3
DP-049-B DRAIN PLUG 12MM-1.25 3 DP-049-B-3 3
DP-052-B DRAIN PLUG 1/27-20 3 DP-052-B-3 3
DP-053-B DRAIN PLUG 14MM-1.5 3 DP-053-B-3 3
DP-058-B DRAIN PLUG 1/27-20 3 DP-058-B-3 3
DP-059-B DRAIN PLUG 12MM-1.75 3 DP-059-B-3 3
DP-075-B DRAIN PLUG 14MM-1.5 3 DP-075-B-3 3
DP-079-B DRAIN PLUG 12MM-1.75 3 DP-079-B-3 3
DP-091-B DRAIN PLUG 12MM-1.75 3 DP-091-B-3 3
DP-098-B DRAIN PLUG 14MM-1.5 3 DP-098-B-3 3
DP-115-B DRAIN PLUG 14MM-1.5 PP 5 DP-115-B-5 5
DP-153-B DRAIN PLUG 12MM-1.75 PP 3 DP-153-B-3 3
DP-156-B DRAIN PLUG 12MM-1.75 3 DP-156-B-3 3
DP-161-B DRAIN PLUG 14MM-1.5 PP 5 DP-161-B-5 5
DP-171-B DRAIN PLUG M14-1.50 3 DP-171-B-3 3
DP-211-B DRAIN PLUG M14 X 1.50 3 DP-211-B-3 3
DY-DG-468B GASKET - M12 FIBER (G-016) 10 DY-DG-46B-10 10
DY-DG-45B GASKET - M14 FIBER (G-026) 10 DY-DG-45B-5
DY-DG-1568B GASKET - 12MM ALuM (G-156) 5 DY-DG-156B-5 5
DY-DG-298B GASKET - M14 ALuMINUM (GO15) 5 DY-DG-29B-5




DY-DGK-240

Oil Drain Plug Gasket Assortments
Master Drain Plug Gasket

* 24 parts numbers

Most popular drain plug gaskets.

* 240 total pieces

Gasket Alummum

7|1

'01845'

Re-order Part # DY-DG-26B-10

'70455'!'s.

Re-order Part # DY-DG-27B-10 R

Gasket - Aluminum

i

e-order Part # DY-DG-156B-10
Gasket - Aluminum
M12- Toyota Lexus Scion

7|

'01845'

'70909" "6

Re-order Part # DY-DG-29B-10

Gasket - Aluminum

.1
|1 4

Qty. 10
'01845'70447'

7 3

Re-order Part # DY-DG-78B-10
Gasket - Aluminum
M14 - Honda
7 |

aty.
'01845' 70457I 2

Re-order Part # DY-DG-79B-10

Gasket - Aluminum

7

O

Gasket - Copper

M1Z
1

|0 845' 70911|

7

Re-order Part # DY-DG-19B-10

9

Re-order Part # DY-DG-20B-10

O

(Gasket - Copper

MM
1 70!

'01845'70912" e

7|

O

Re-order Part # DY-DG-24B-10

Gasket - Copper
M14 - BMW

aty. 10

5170913

7 3

Re-order Part # DY-DG-12B-10
Gasket - Crush
M1 2
7 | 1

'01845 709|4| 0

Re-order Part # DY-DG-13B-10
Gasket - Crush

M14
7||

aty. 10
01845

709157

o)

Gasket - Foldover

09

0184571

Re-order Part # DY-DG-134B-10

Mi12- N\ssan SuZuki, Ford

27| 0

Re-order Part # DY-DG-73B-10

M14 - Mitsubishi, Hyundai

Gasket - Foldover

Qty. 10

70918

7101845

Q

Re-order Part # DY-DG-74B-10
Gasket - Foldover
M20
.10

0

45'

7|

18.

70919

O

Re-order Part # DY-DG-1B-10
Gasket - Fiber

12"
0
m

i

Re-order Part # DY-DG-52B-10
Gasket - Fiber
1

$.0.

7|

01845 1

7 o

Gasket - Fiber

Re-order Part # DY-DG-45B-10

Re-order Part # DY-DG-38B-10

Gasket - Nylon

Re-order Part # DY-DG-40B-10
(Gasket - Nylon

Re-order Part # DY-DG-54B-10
(Gasket - Rubber 0-Ring

Re-order Part # DY-DG-9B-10
Gasket - Rubber/Metal

MM Mazda
| 01845'70910™"2
Gasket - Crush
MWG
7 | 0184517091 6| '4
Gasket - Fiber
M12
o2
JG
Re-order Part # DY-DG-10B-10

Re-order Part # DY-DG-14B-10
Re-order Part # DY-DG-46B-10
Io”ms 70448!
Gasket - Rubber/Metal

M14 M2 M16 For DP-079 & DP-091 M12 M14
Qty. 10 Qty. 10 Qty. 10 Qty. 10 Qty. 10
1 111 AUMGL RN

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTYy. PART NO. QTY.
DY-DG-268B GASKET - ALUMINUM 1/27 10 DY-DG-26B-10 10
DY-DG-278B GASKET - ALUMINUM M12 10 DY-DG-27B-10 10
DY-DG-1568B GASKET - ALUMINUM M12 10 DY-DG-156B-10 10
DY-DG-298B GASKET - ALUMINUM M 14 10 DY-DG-29B-10 10
DY-DG-788B GASKET - ALUMINUM M 14 10 DY-DG-78B-10 10
DY-DG-79B GASKET - ALUMINUM M 14 10 DY-DG-79B-10 10
DY-DG-19B GASKET - COPPER M12 10 DY-DG-19B-10 10
DY-DG-20B GASKET - COPPER M1 4 10 DY-DG-20B-10 10
DY-DG-248B GASKET - COPPER M1 4 10 DY-DG-24B-10 10
DY-DG-128B GASKET - CRUSH M12 10 DY-DG-12B-10 10
DY-DG-138B GASKET - CRUSH M14 10 DY-DG-13B-10 10
DY-DG-148B GASKET - CRUSH M16 10 DY-DG-14B-10 10
DY-DG-134B GASKET - FOLDOVER M12 10 DY-DG-134B-10 10
DY-DG-738B GASKET - FOLDOVER M 14 10 DY-DG-73B-10 10
DY-DG-748B GASKET - FOLDOVER M20 10 DY-DG-74B-10 10
DY-DG-1B GASKET - FIBER 1/27” 10 DY-DG-1B-10 10
DY-DG-528B GASKET - FIBER 1/2” S.0. 10 DY-DG-52B-10 10
DY-DG-468B GASKET - FIBER M12 10 DY-DG-46B-10 10
DY-DG-458B GASKET - FIBER M14 10 DY-DG-45B-10 10
DY-DG-388B GASKET - NYLON M12 10 DY-DG-38B-10 10
DY-DG-408B GASKET - NYLON M16 10 DY-DG-40B-10 10
DY-DG-548B GASKET - RUBBER O-RING 10 DY-DG-54B-10 10
DY-DG-9B GASKET - RUBBER/METAL M1 2 10 DY-DG-9B-10 10
DY-DG-10B GASKET - RUBBER/METAL M14 10 DY-DG-10B-10 10

@JohnDowlndustries/dDHNDDW.coM




Wheel Hardware Assortments
Wheel Stud

Most popular wheel studs

* 12 parts numbers

* 60 total pieces in two cases

[ S— :m [ = S—— [ = — [ S —
gy — G y— g et e
Re-order Part 4 WS-244-B-5 Re-order Part # WS-254-B-5 Re-order Part 4 WS-266-B-5 Re-order Part # WS-269-B-5 Re-order Part # WS-285-B-5 Re-order Part # WS-312-B-5
Wheel Stud Wheel Stud Wheel Stud Wheel Stud Wheel Stud Wheel Stud
M12x37 Mi12x415 M12x 40 Mi2x36 M12x41.5 M12x445
aty.5 aty.5 aty.5 aty.5 aty.5 Qty.5
L) A 11 1 L1
|
[ S— s — o . m
— (=D — . {iDum
Re-order Part § WS-340-B-5 Re-order Part # WS-360-B-5 Re-order Part 4 WS-369-B-5 Re-order Part § WS-378-B-5 Re-order Part # WS-410-B-5 Re-order Part # WS-507-B-5
Wheel Stud Wheel Stud Wheel Stud Wheel Stud Wheel Stud Wheel Stud
M12 x 42 M12 x 42 M12 x 46 M12 x 42 M12 x 46 M12x 448
ay.5 ay.5 aty.5 ay.5 aty.5 aty.5
NORW o NORRAL ) RN ORI ROV U, )
PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
WS-244-B WHEEL STUuD M12 X 37 5 WS-244-B-5 5
WSs-254-B WHEEL STUD M12 X 41.50 5 WS5-254-B-5 5
WS-266-B WHEEL STuD M12 X 40 5 WS-266-B-5 5
WS-269-B WHEEL STUD M12 X 36 5 WS-269-B-5 5
ws-285-B WHEEL STUD M12 X 41 5 ws-285-B-5 5
Ws-312-B WHEEL STUD M12 X 44.50 5 WSs-312-B-5 5
WS-340-B WHEEL STUD M12 X 42 5 WS5-340-B-5 5
WS-360-B WHEEL STUD M12 X 42 5 WS-360-B-5 5
WS-369-B WHEEL STUD M12 X 46 5 WS-369-B-5 5
ws-378-B WHEEL STUD M12 X 42 5 ws-378-B-5 5
WS-410-B WHEEL STUD M12 X 46 5 WS-410-B-5 5
wSs-507-B WHEEL STuUD M12 X 44.8 5 ws-507-B-5 5




DY-WN-12

Wheel Hardware Assortments

Wheel Lug Nut

* 12 parts numbers

Most popular lug nuts

* 120 total pieces in two cases

=

Re-order Part # WN-16-B-5
Wheel Nut - Std Zinc
1/2"-20

aty.5

|aJ5 70L7

7100 9l

=
Lo

Re-order Part # WN-62-B-5
Wheel Nut - Std Zinc

M12-1.50
aty.5
Io”

JULLI

7 5 '9

<

Re-order Part # WN-63-B-5
Wheel Nut - Std Zinc

M12-1.50

aty.5

0184570670

7 s

e

Re-order Part # WN-64-B-5
Wheel Nut - Std Zinc
M12-1.25
aty.5

UM

7 571 's

-
-
Re-order Part # WN-65-B-5

Wheel Nut - Std Zinc
M12-1.25

aty.5
'018.

45170671

7 2

o)
am

Re-order Part # WN-66-B-5
Wheel Nut - Std Zinc
M12-1.50
aty.5

L

7! 517 9

Re-order Part # WN-71-B-5
Wheel Nut - Dome

Re-order Part # WN-72-B-5
Wheel Nut - Std Zinc

Re-order Part # WN-74-B-5
Wheel Nut - Dome

Re-order Part # WN-75-B-5
Wheel Nut - Acorn

Re-order Part # WN-84-B-5
Wheel Nut - Dome

Re-order Part # WN-94-B-5
Wheel Nut - Dome

1/2"-20 M12-1.50 M12-1.50 M12-1.50 M12-1.50 1/2"-20
Qty.5 Qty.5 Qty.5 Qty.5 Qty.5 Qty.5
111 1 R 1 1

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
WN-16-B WHEEL NUT - STD ZINC 1/27-20 5 WN-16-B-5 5
WN-62-B WHEEL NUT - STD ZINC M12-1.50 5 WN-62-B-5 5
WN-63-B WHEEL NUT - STD ZINC M12-1.50 5 WN-63-B-5 5
WN-64-B WHEEL NUT - STD ZINC M12-1.25 5 WN-64-B-5 5
WN-65-B WHEEL NUT - STD ZINC M12-1.25 5 WN-65-B-5 5
WN-66-B WHEEL NUT - STD ZINC M12-1.50 5 WN-66-B-5 5
WN-71-B WHEEL NuT - DoME 1/27-20 5 WN-71-B-5 5
WN-72-B WHEEL NUT - STD ZINC M12-1.50 5 WN-72-B-5 5
WN-74-B WHEEL NuT - DoME M12-1.50 5 WN-74-B-5 5
WN-75-B WHEEL NUT - ACORN M12-1.50 5 WN-75-B-5 5
WN-84-B WHEEL NuT - DoOME M12-1.50 5 WN-84-B-5 5
WN-94-B WHEEL NuT - DoME 1/27-20 5 WN-94-B-5 5

@JohnDow'lndustries/dDHNDDW.coM




Wheel Hardware Assortments

e

N

parts numbers

Wheel Lug Nut

Most popular lug nuts

* 120 total pieces in two cases

Ll
S’

Re-order Part # WN-109-B-5
Wheel Nut - Ext. Thread

Q

Re-order Part # WN-110-B-5
Wheel Nut - Bulge

Re-order Part # WN-114-B-5
Wheel Nut - Acorn

L m
s

Re-order Part # WN-115-B-5
Wheel Nut - Ext. Thread

[ (n

Re-order Part # WN-117-B-5
Wheel Nut - Acorn

Re-order Part # WN-122-B-5
Wheel Nut - Dome

M12-1.50 M14-150 M12-1.25 M14-150 M12-1.50 1/2"-20
aty.5 aty.5 ay.5 ay.5 ay.5 ay.5
7 I“Ma 7IJL!| o 7 |018A5 70676 7 7 Io1345 70663 17 7 |01545 70577| 4 7 ”ﬂ!JE 7LLL4| 4 7 Ims45 70665'111

o

Re-order Part # WN-136-B-5
Wheel Nut - Dome

™ O

Re-order Part # WN-138-B-5
Wheel Nut - Acorn

Re-order Part # WN-141-B-5
Wheel Nut - Acom

Re-order Part # WN-150-B-5
Wheel Nut - Ext. Thread

oo

Re-order Part # WN-181-B-5
Wheel Nut - Flat Capped

Re-order Part # WN-253-B-5
Wheel Nut - Acorn

do L -NAWN-Ad

M12-1.50 M12-1.50 M12-1.50 M12-1.50 M12-1.50 M12-1.50
aty.5 aty.5 aty.5 aty.5 ay.5 aty.5
T, L1111 6 11 |1

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
WN-109-B WHEEL NUT - EXT. THREAD M12-1.50 5 WN-109-B-5 5
WN-110-B WHEEL NUT - BULGE M14-1.50 5 WN-110-B-5 5
WN-114-B WHEEL NUT - ACORN M12-1.25 5 WN-114-B-5 5
WN-115-B WHEEL NUT - EXT THREAD M14-1.50 5 WN-115-B-5 5
WN-117-B WHEEL NUT - ACORN M12-1.50 5 WN-117-B-5 5
WN-122-B WHEEL NUT - DoME 1/27-20 5 WN-122-B-5 5
WN-136-B WHEEL NuT - DoME M12-1.50 5 WN-136-B-5 5
WN-138-B WHEEL NUT - ACORN M12-1.50 5 WN-138-B-5 5
WN-141-B WHEEL NUT - ACORN M12-1.50 5 WN-141-B-5 5
WN-150-B WHEEL NUT - EXT. THREAD M12-1.50 5 WN-150-B-5 5
WN-181-B WHEEL NUT - FLAT CAPPED M12-1.50 5 WN-181-B-5 5
WN-253-B WHEEL NUT - ACORN M12-1.50 5 WN-253-B-5 5

Jp JohnDow Industries




DY-TC-1505S

Electrical = Terminal Assortments
Shrink Terminal

24 parts numbers

Most popular heat shrink terminals

* 150 total pieces

[— —— —

Re-order Part # DY-1390S-10
Butt Connector 26-22

7|1 7

'01845'70822'' 18

Re-order Part # DY-1320S-15
Butt Connector 22-18

15

aty.
01845

7 o

Re-order Part# DY-1321S-15
Butt Connector 16-14
aty. 15

7|1

7

C—

Re-order Part # DY-1322S-10
Butt Connector 12-10

aty. 10
L

7110184570974

ly

== A

Re-order Part # DY-1301S-5
Ring 22-18

Qty.5
|018A5 70975I

7 1

—— o]

Re-order Part # DY-1302S-5
Ring

ing 22-18
i

7

#10
aty.5
018,

s

==D

Re-order Part # DY-1303S-5

Re-order Part # DY-1305S-5

'01845'70973

Re-order Part # DY-1306S-5

— 1@

Re-order Part # DY-1307S-5

0

Re-order Part # DY-1310S-5

I
=="o]

70976
Re-order Part # DY-1311S-5

Re-order Part # DY-13255-5
Disconnect (M) 16-14

Re-order Part # DY-1326S-5
Disconnect (F) 16-14

Re-order Part # DY-1327S-5
Disconnect (M) 12-10

Re-order Part # DY-1328S-5
Disconnect (F) 12-10

Re-order Part # DY-13428-5

Disconnect Fully Insulated (F)

Ring 22-18 ng 16 14 Ring 16-14 Ring 16-14 Ring 12-10 Ring 12-10
1/4 #10 1/4 #10 1/4
aty.5
7|0 1845171 0977|5 7|0|845 7097812 7 |o1s45 7055|| 4 7|0|845 70979| 9 7 |o|1‘545 705821111 7|0|845 70583 s
Re-order Part # DY-13138-5 Re-order Part # DY-1316S-5 Re-order Part # DY-1318S-5 Re-order Part # DY-13198-5 Re-order Part # DY-1323S-5 Re-order Part # DY-13248-5
0-Ring 12-10 Spade 22-18 Spade 16-14 Spade 1210 Disconnect (V) 22-18 Disconnect (F) 22-18
3/8" #10 #10 #10 250 250
Qty.5 ity. 5 aty.5 Qty.5
7 |ﬂ|1‘|!‘J|5‘ ﬂ!‘ﬂ |5 7 | 0”1‘!3‘45‘ U!MM' s U‘M f!if! 7 | 01845' 70581J 9 7 IMJUS 7!1‘5'!‘3‘ 7 7 |(|J”|L!U|5‘ 7‘0”59‘!' 4

Re-order Part # DY-1343S-5

Disconnect Fully Insulated (M)

10.

250 .250 250 250 16- 14 250 16- 14 250
aty.5 Qty.5 Qty.5
o Jiniw M, T i, i
PART ASSMT. REFILL REFILL
NO. DESCRIPTION QTY. PART NO. QTY.
DY-1390S BUTT CONNECTOR 26-22 10 DY-1390S-10 10
DY-13205 BUTT CONNECTOR 22-18 15 DY-13205-15 15
DY-13215 BUTT CONNECTOR 16-14 15 DY-13215-15 15
DY-13225 BUTT CONNECTOR 12-10 10 DY-13225-10 10
DY-13015 RING 22-18 #6 5 DY-13015-5 5
DY-13025 RING 22-18 #10 5 DY-13025-5 5
DY-1303S RING 22-18 1/4” 5 DY-13035-5 5
DY-1305S RING 16-14 #6 5 DY-13055-5 5
DY-13065 RING 16-14 #10 5 DY-13065-5 5
DY-1307S RING 16-14 1/4” 5 DY-13075-5 5
DY-1310S RING 12-10 #10 5 DY-1310S-5 5
DY-13118 RING 12-10 1/4 5 DY-13115-5 5
DY-1313S RING 12-10 3/8 5 DY-13135-5 5
DY-13165 SPADE 22-18 #10 5 DY-13165-5 5
DY-13185 SPADE 16-14 #10 5 DY-13185-5 5
DY-13195 SPADE 12-10 #10 5 DY-13195-5 5
DY-1323S DISCONNECT (M) 22-18 .250 5 DY-13235-5 5
DY-13245 DISCONNECT (F) 22-18 .250 5 DY-13245-5 5
DY-13255S DISCONNECT (M) 16-14 .250 5 DY-13255-5 5
DY-1326S DISCONNECT (F) 16-14 .250 5 DY-13265-5 5
DY-1327S DISCONNECT (M) 12-10 .250 5 DY-13275-5 5
DY-1328S DISCONNECT (F) 12-10 .250 5 DY-13285-5 5
DY-13425 DISCONNECT INS. (F) 16-14 .250 5 DY-13425-5 5
DY-13435 DISCONNECT INS. (M) 16-14 .250 5 DY-13435-5 5
@JohnDowlndustries JoHNDOW.cowm




Electrical = Terminal Assortments
Pro Terminal

Most popular vinyl insulated terminals

e 23 parts numbers * 330 total pieces

Re-order Part # DY-1309-10

Re-order Part # DY-1310-10

Re-order Part # DY-1311-10

Re-order Part # DY-1312-10

Re-order Part # DY-1313-10

=0 e=0 =0 =0 =) =0
Re-order Part # DY-1302-20 Re-order Part # DY-1303-20 Re-order Part # DY-1304-20 Re-order Part # DY-1306-20 Re-order Part # DY-1307-10 Re-order Part # DY-1308-10
Ring 22-18 Ring 22-18 Ring 22-18 Ring 16-14 Ring 16-14 Ring 16-14
#m 14" 516" #10 1/4 5/16
Qty. 20 Qty. 20 Qty. 20
I!}‘”L'UU 70‘50‘3‘ 3 7 M!Us 7 Mu 2 7 wsz 7 mﬂﬂ 9 7 ol‘us 706057 7 ”!‘!‘45‘ 7‘0‘(‘50‘(‘5' 4 7 |ol‘345 70983
o) = ~0 =0 =0 ==
e

Re-order Part # DY-1316-20

Re-order Part # DY-1318-20

Re-order Part # DY-1319-10

Re-order Part # DY-1320-20

Re-order Part # DY-1321-20

Re-order Part # DY-1322-10

Ring 16-14 Ring 12-10 Ring 12-11 Ring 12-12 Ring 12-13 Spade 22-18
3/8 #10 1/4 5/15 3/8 #10
|01!J5 7I 1 7 | '0184570608" '8 7 |01S45 70609| '5 7 |0|845 '70984' '3 7 ID”SAS 7DB||ID 1 7 | | 0
— '
= - —_— — [arrrerey [

Re-order Part # DY-1323-10

Re-order Part # DY-1324-10

Re-order Part # DY-1325-20

Re-order Part # DY-1326-20

Re-order Part # DY-1327-10

Re-order Part # DY-1328-10

Spade 16-14 Spade 12-10 Butt Connector 22-18 Butt Connector 16-14 Butt Connector 12-10 Disconnect (M) 22-18
#10 #10 250
Qty. 10 Qty. 20 Qty. 20 Qty. 10 Qty. 10
7 Hl‘!UU 7‘0‘(L|2||5 7|0|845 706132 7|01845 70614| 9 7|0|B45 70615" 6 7|01845 '70616' '3 7|ﬂ1 457/ UU\‘L 7
o=l = [ "] o

Disconnect (F) 22-18 Disconnect (M) 16-14 Disconnect (F) 16-14 Disconnect (M) 12-10 Disconnect (F) 12-10
250 .250 250 .250 250

Oee-J1-Ad

Qty. 10 Qty. 20 Qty. 10
T 1 1 117}

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTYy. PART NO. QTY.
DY-1302 RING 22-18 #10 20 DY-1302-20 20
DY-1303 RING 22-18 1/4 20 DY-1303-20 20
DY-1304 RING 22-18 5/16 20 DY-1304-20 20
DY-1306 RING 16-14 #10 20 DY-1306-20 20
DY-1307 RING 16-14 1/4 10 DY-1307-10 10
DY-1308 RING 16-14 5/16 10 DY-1308-10 10
DY-1309 RING 16-14 3/8 10 DY-1309-10 10
DY-1310 RING 12-10 #10 10 DY-1310-10 10
DY-1311 RING 12-10 1/4 10 DY-1311-10 10
DY-1312 RING 12-10 5/16 10 DY-1312-10 10
DY-1313 RING 12-10 3/8 10 DY-1313-10 10
DY-1316 SPADE 22-18 #10 20 DY-1316-10 10
DY-1318 SPADE 16-14 #10 20 DY-1318-10 10
DY-1319 SPADE 12-10 #10 10 DY-1319-10 10
DY-1320 BuTtT CON. 22-18 20 DY-1320-10 10
DY-1321 BuTtT CON. 16-14 20 DY-1321-10 20
DY-1322 BuTtT CON. 12-10 10 DY-1322-10 10
DY-1323 DiscONNECT (M) 22-18 .250 10 DY-1323-10 10
DY-1324 DiscoONNECT (F) 22-18 .250 10 DY-1324-10 10
DY-1325 DISCONNECT (M) 16-14 .250 20 DY-1325-10 10
DY-1326 DiscoONNECT (F) 16-14 .250 20 DY-1326-10 10
DY-1327 DiscoNNECT (M) 12-10 .250 10 DY-1327-10 10
DY-1328 DiscoNNECT (F) 12-10 .250 10 DY-1328-10 10




DY-FK-135

12.

Electrical = Fuse Assortments

Plug-In Fuse

Most popular ATM, ATM Low Profile & ATO blade fuses

e 24 parts numbers

* 135 total pieces

8

Re-order Part # ATM-2B-5

-

Re-order Part # ATM-3B-5

Ry

Re-order Part # ATM-4B-5

R

Re-order Part # ATM-5B-5

Re-order Part # ATM-7.5B-5

L

Re-order Part# ATM-10B-10

Fuse - ATM Fuse - ATM Fuse - ATM Fuse - ATM Fuse - ATM Fuse - ATM
2Amp 3Amp 4Amp 5Amp 75Amp 10 Amp
Qty.5 Qty.5 Qty. 10
7 | 0184570517 '3 7 |01845 7os|a| o 7 | L 45 705||1 ‘ 7 7 ML‘US 7 510 's ﬂ 451705: J||I o 7 LIJ!“BLU 7!7!22' 5
. < -
o I . -
3
. . = ’ . @
Re-order Part # ATM-15B-10 Re-order Part # ATM-20B-10 Re-order Part # ATM-25B-5 Re-order Part # ATM-30B-5 Re-order Part # AT0-3B-5 Re-order Part # ATO-5B-5
Fuse - ATM Fuse - ATM Fuse - ATM Fuse - ATM Fuse - ATO Fuse - ATO
15Amp 20 Amp 25 Amp 30 Amp 3 Amp 5Amp
Qty. 10 Qty.5
7 |0|845 70923012 7 Io1s45 70924| 7 L!Js 7 sjs s 7 | 01845! 70526|5 7 |o‘|1‘|s‘4||5‘ U!)‘Lln‘!l s 7 | 01845 25995| 9

-

Re-order Part # AT0-7.5B-5

w»

Re-order Part # ATO-10B-5

-

Re-order Part # AT0-15B-5

A =g

Re-order Part # AT0-20B-5

4

Re-order Part # AT0-25B-5

\

Re-order Part # ATO-30B-5

Fuse - ATO Fuse - ATO Fuse - ATO Fuse - ATO Fuse - ATO Fuse - ATO
7.5Amp WDAmp 15 Amp 20 Amp ZSAmp 30 Amp
Qty. 5 Qty.5 aty.5 aty.5
7 Io‘l‘!}'UU U!)Hs‘” i I01s45 70512!lg 7 M!‘L 7 ‘ U! s 0184570926 '3 01845 7051!‘” 7 | MH!US 7 ‘5“[ s
. ’ ’ = - ’

Re-order Part # ATM-7.5S-5
Fuse - ATM Low Profile

Re-order Part # ATM-10S-5
Fuse - ATM Low Profile

Re-order Part # ATM-15S-5
Fuse - ATM Low Profile

Re-order Part # ATM-20S-5
Fuse - ATM Low Profile

Re-order Part # ATM-25S-5
Fuse - ATM Low Profile

Re-order Part # ATM-30S-5
Fuse - ATM Low Profile

7.5Amp 10 Amp 15Amp ZOAmp 25 Amp 30Amp
ty.5 Qty.5
Wi | | i | i [ i il
PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
ATM-2B ATM - 2 AMP 5 ATM-2B-5 5
ATM-3B ATM - 3 AMP 5 ATM-3B-5 5
ATM-4B ATM - 4 AMP 5 ATM-4B-5 5
ATM-5B ATM - 5 AMP 5 ATM-5B-5 5
ATM-7.58B ATM - 7.5 AMP 5 ATM-7.5B-5 5
ATM-10B ATM - 10 AMP 10 ATM-10B-10 10
ATM-15B ATM - 15 AMP 10 ATM-15B-10 10
ATM-208B ATM - 20 AMP 10 ATM-20B-10 10
ATM-25B ATM - 25 AMP 5 ATM-25B-5 5
ATM-30B ATM - 30 AMP 5 ATM-30B-5 5
ATO-3B ATO - 3 AMP 5 ATO-3B-5 5
ATO-5B ATO - 5 AMP 5 ATO-5B-5 5
ATO-7.5B ATO - 7.5 AMP 5 ATO-7.5B-5 5
ATO-10B ATO - 10 AMP 5 ATO-10B-5 5
ATO-15B ATO - 15 AMP 5 ATO-15B-5 5
ATO-20B ATO - 20 AMP 5 ATO-20B-5 5
ATO-25B ATO - 25 AMP 5 ATO-25B-5 5
ATO-30B ATO - 30 AMP 5 ATO-30B-5 5
ATM-7.585 ATM Low PROFILE - 7.5 AMP 5 ATM-7.55-5 5
ATM-108 ATM Low PROFILE - 10 AMP 5 ATM-108-5 5
ATM-158 ATM Low PROFILE - 15 AMP 5 ATM-1585-5 5
ATM-208 ATM Low PROFILE - 20 AMP 5 ATM-2085-5 5
ATM-2585 ATM Low PROFILE - 25 AMP 5 ATM-2585-5 5
ATM-3085 ATM Low PROFILE - 30 AMP 5 ATM-3085-5 5
@JohnDowlndustries JorHNDOW.cowm




Electrical = Fuse Assortments

Pro Fuse
Most popular Micro2, MAXI & JCase Fuses

* 13 parts numbers

* 65 total pieces

Re-order Part # MG2-10B-5
Fuse - Micro-2

10 Amp
Qty. 5

DDA

7 5

Re-order Part # MC2-15B-5
Fuse - Micro-2

7 2

e

Re-order Part # MG2-20B-5
Fuse - Micro-2

20 Amp
1

aty.5
'01845' 70809|

7 9

7 5 s

&

Re-order Part # MC2-30B-5

7 2

A o

Re-order Part # MAX-20B-3
Fuse - MAXI
20 Amp
aty.3

W

7 517 2

A o

Re-order Part # MAX-30B-3
Fuse - MAXI
30 Amp

Qty.3
0

1845170528

7 9

15 Amp
aty.5
0184570808
Re-order Part # MAX-40B-3
Fuse - MAXI

40 Amp
-3
1

Qty.
0184570529

7 s

\

Re-order Part # MAX-50B-3
Fuse - MAXI

50 Amp

Qty.3

il

'70530

7 2

7 9

Fuse - Micro-2

30 Amp
-

Qty.5
I

01845! 7!)
Re-order Part # MAX-80B-3
Fuse - MAXI
80 Amp
Qty. 3

Im 845170532/

7 &

Re-order Part # JC-20B-2
Fuse - J-CASE

20 Amp
.2
1

Qty.
0184570533

7 3

Re-order Part # JC-30B-2
Fuse - J-CASE
30 Amp
ty.

Qty.2

01845 70534|

7 o

Re-order Part # JC-40B-2
Fuse - J-CASE
40 Amp

aty.2
01845/

7 0535'"7

Re-order Part # JC-50B-2
Fuse - J-CASE
50 Amp
Qty.2

Lol

7 4

Re-order Part # MC2-25B-5
Fuse - Micro-2
25 Amp
Qty.5
Re-order Part # MAX-60B-3
Fuse - MAXI
60 Amp
0ty.3
|(|Jl‘|z!4|5‘ 7!)H5L1||
Re-order Part # JC-60B-2
Fuse - J-CASE
60 Amp
2

84570537"

Qty.
1

7 1

Re-order Part # JC-208-2
Fuse - J-CASE Low Profile
20 Amp
Qty.2

I01 845

3

7

Re-order Part # JC-258-2
Fuse - J-CASE Low Profile
25Amp

aty.2
i

1845'

70551

7 7

Re-order Part # JC-308-2
Fuse - J-CASE Low Profile

7
Re-order Part # JG-408-2
Fuse - J-CASE Low Profile

Re-order Part # JC-508-2
Fuse - J-CASE Low Profile

Re-order Part # JG-608-2
Fuse - J-CASE Low Profile

S9-AdV-Ad

30 Amp 40Amp 50 Amp 60 Amp
ty. aty.2 aty.2 aty.2
[ .

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
MC2-10 MICcRDO-2 10 AMP 5 MC2-10-5 5
MC2-15 MICRDO-2 15 AMP 5 MC2-15-5 5
MC2-20 MICRDO-2 20 AMP 5 MC2-20-5 5
MC2-25 MICRDO-2 25 AMP 5 MC2-25-5 5
MC2-30 MIcRDO-2 30 AMP 5 MC2-30-5 5
MAX-20B MAXI - 20 AMP 3 MAX-20B-5 3
MAX-30B MAXI - 30 AMP 3 MAX-30B-3 3
MAX-40B MAXI - 40 AMP 3 MAX-40B-3 3
MAX-50B MAXI - 50 AMP 3 MAX-50B-3 3
MAX-60B MAXI - 60 AMP 3 MAX-60B-3 3
MAX-80B MAXI - 80 AMP 3 MAX-80B-3 3
JC-20B J-CASE - 20 AMP 2 JC-20B-2 2
JC-30B J-CASE - 30 AMP 2 JC-30B-2 2
JC-40B J-CASE - 40 AMP 2 JC-40B-2 2
JC-50B J-CASE - 50 AMP 2 JC-50B-2 2
JC-60B J-CASE - 60 AMP 2 JC-60B-2 2
JC-208 J-CASE Low PROFILE - 20 AMP 2 JC-20S8-2 2
JC-258 J-CASE Low PROFILE - 25 AMP 2 JC-2585-2 2
JC-308 J-CASE Low PROFILE - 30 AMP 2 JC-30S8-2 2
JC-408 J-CASE Low PROFILE - 40 AMP 2 JC-4085-2 2
JC-508 J-CASE Low PROFILE - 50 AMP 2 JC-508-2 2
JC-608 J-CASE Low PROFILE - 60 AMP 2 JC-60S5-2 2




DY-BA-6

Brake Line Assortments
Master Cylinder Brake Line Adapter

Complete assortment of master cylinder brake line adapters

* 16 parts numbers

* 80 total pieces

Re-order Part # BR-1441-5
Adapter - 3/8”-24 Inv F - 3/8"-24 Bub M

7 5

qﬁ#%

Re-order Part # BR-1442-5
Adapter - 3/8”-24 Inv F x M10 x 1.0 Bub M

JUmIi

Qty.5
7W101845"70361""2

Re-order Part # BR-1443-5
Adapter - 3/8"-24 Inv F x M10 X 1.0 Inv M

|0|8

aty.5
45! 70362|

7 9

=

Re-order Part # BR-1446-5
Adapter - 3/8"-24 Inv F - M12x 1.0 Bub M

7 s

-

Re-order Part # BR-7727-5
Adapter - 1/2"-20 Inv F - 7/16"-24 Inv M

.5
LD

Qty.
7'101845'70364' '3

Re-order Part # BR-7818-5
Adapter - 3/8"-24 Inv F - 7/16"24 Inv M

Qty.5
(L

ty.
7101845 7

aty.5
| '01845'70360' |

5
Re-order Part # BR-7828-5
Adapter -7/16"-24 Inv F - 3/8”-24 Inv M

Re-order Part # BR-7829-5
Adapter - 7/16"-24 Inv F - 1/2"-20 Inv M

@g
Re-order Part # BR-7908-5
Adapter - 7/16"-24 Inv F - 9/16"-18 Inv M

Qty.5
il
i g

70363
Re-order Part # BR-7909-5
Adapter - 3/8"-24 Inv F - 1/2"-20 Inv M

Re-order Part # BR-7910-5
Adapter - 3/8"-24 Inv F - 9/16"-20 Inv M

70366

Re-order Part # BR-7911-5
Adapter - 3/8"-24 Inv F - 9/16”-18 Inv M

ay.5 ay.5 ay.5 ay.5 ay.5 ay.5
AUNEN | MO MR, A
. =] . V4
Re-order Part # BR-7912-5 Re-order Part # BR-7935-5 Re-order Part # BR-7936-5 Re-order Part # BR-7937-5
Adapter - 9/16”-18 Inv F - 1/2’-20 InvM | Adapter - M10x1.0 Inv F - M11x1.5 Bub M | Adapter - M10x1.0 Inv F - M12x1.5 Bub M | Adapter - M10x1.0 Inv F - M13x1.5 Bub M
aty.5 ay.5 aty.5 ay.5
VRN DR, b

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
BR-1441 ADAPTER - 3/8 INV X 3/8 BusB 5 BR-1441-5 5
BR-1442 ADAPTER - 3/8 INV X M 10 BuB 5 BR-1442-5 5
BR-1443 ADAPTER - 3/8 INV X M 10 INV 5 BR-1443-5 5
BR-1446 ADAPTER - 3/8 INV X M12 BuB 5 BR-1446-5 5
BR-7727 ADAPTER - 1/2 INV X 7/16 INV 5 BR-7727-5 5
BR-7818 ADAPTER - 3/8 INV X 7/16 INV 5 BR-7818-5 5
BR-7828 ADAPTER - 7/16-24 INV X 3/8-24 INV 5 BR-7828-5 5
BR-7829 ADAPTER - 7/16 INV X 1/2 INV 5 BR-7829-5 5
BR-7908 ADAPTER - 7/16 INV X 9/16 INV 5 BR-7908-5 5
BR-7909 ADAPTER - 3/8 INV X 1/2 INV 5 BR-7909-5 5
BR-7910 ADAPTER - 3/8 INV X 9/16 INV 5 BR-7910-5 5
BR-7911 ADAPTER - 3/8 INV X 9/16 INV 5 BR-7911-5 5
BR-7912 ADAPTER - 9/16 INV X 1/2 INV 5 BR-7912-5 5
BR-7935 ADAPTER - M10O INV X M1 1 BuB 5 BR-7935-5 5
BR-7936 ADAPTER - M10O INV X M1 2 BuB 5 BR-7936-5 5
BR-7937 ADAPTER - M10 INV X M13 BuB 5 BR-7937-5 5

14.

@JohnDow‘lndustries/dDHNDDW.coM




Brake Line Assortments
Master Brake Line Fitting

Master assortment of tube nuts, unions and adapters to make and repair most domestic and import brake lines

e 23 parts numbers * 115 total pieces
, N\
- ¥ - 7 = &
Re-order Part # BR-105B-5 Re-order Part # BR-105BL-5 Re-order Part # BR-105C-5 Re-order Part # BR-105CL-5 Re-order Part # BR-105D-5 Re-order Part # BR-7800-5
Tube Nut - 3/16” - 3/8”-24 Inv M Tube Nut - 3/16” Long - 3/8"-24 Inv M Tube Nut - 1/4” - 7/16"-24 Inv M Tube Nut - 1/4” Long - 7/16-24 Inv M Tube Nut - 5/16” - 1/2"-20 Inv M Tube Nut - 3/16” - M10x1.0 Inv Asia M
.5 .5 e ay.5 .5 a.5
AOANL | MM NOOCRL ) WL | WWDAAL | NRWEW.
Re-order Part # BR-7801-5 Re-order Part # BR-7945-5 Re-order Part # BR-7946-5 Re-order Part # BR-7947-5 Re-order Part # BR-7948-5 Re-order Part # BR-7951-5
Tube Nut - 3/16” - M10x1.0 Bub Eur M Tube Nut - 3/16” - M11x1.5 Bub M Tube Nut - 3/16” - M12x1.5 Bub M Tube Nut - 3/16” - M13x1.5 Bub M Tube Nut - 3/16"-9/16™-18 Inv M Tube Nut - 3/16” - M10x1.0 Long Inv M
aty.5 aty.5 ay.5 ay.5 aty.5 ay.5
JUINL | DO R e U
£ & & & " " <
Re-order Part # BR-7955-5 Re-order Part # BR-7956-5 Re-order Part # BR-7958-5 Re-order Part # BR-7959-5 Re-order Part # BR-300B-5 Re-order Part # BR-300C-5 !
Tube Nut - 3/16” - 7/16™-24 Inv M Tube Nut - 3/16” - 1/2°-20 Inv M Tube Nut - 1/4” - 9/16™-18 Inv M Tube Nut - 1/4” - 1/2"-20 Inv M Union - 3/16” x 3/8"-24 Inv Union - 1/4” X 7/16"-24 Inv
s aty.5 aty.5 aty.5 aty.5 ay.5 w
NODNGE WO DO MORRAN MO r
Re-order Part # BR-300D-5 Re-order Part # BR-1595A-5 Re-order Part # BR-7934A-5 Re-order Part # BR-1442-5 Re-order Part # BR-1443-5 |
Union - 5/16 x 1/2°-20 Inv Union - 3/16" x M10x1.0 Bub Union - 3/16” x M10x1.0 Inv Adapter - 3/8”-24 Inf F - M10x1.0 Bub M | Adapter - 3/8”-24 Inv F - M10x1.0 Inv M
aty.5 aty.5 aty.5 aty.5 aty.5 m
L e e
PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
BR-1058B TuBe NuT - 3/16” -3/8 - INV 5 BR-105B-5 5
BR-105BL TuBE NUT - 3/16” LNG --3/8 INV 5 BR-105BL-5 5
BR-105C TuBeE NUT - 1/4” - 7/16 - INV. 5 BR-105C-5 5
BR-105CL TuBe NUT - 1/4” LONG - 7/16 INV 5 BR-105CL-5 5
BR-105D TuBe NuUT - 5/16” - 1/2-20 -INV 5 BR-105D-5 5
BR-7800 TuBe NUT (JAaP) M10 - INV 5 BR-7800-5 5
BR-7801 TusBe NuT (Eur) M10 - Bus 5 BR-7801-5 5
BR-7945 TuBe NuT 3/16-M11 - BuB 5 BR-7945-5 5
BR-7946 TuBe NuT 3/16-M12 - BuB 5 BR-7946-5 5
BR-7947 TuBe NuT 3/16-M13 - BuB 5 BR-7947-5 5
BR-7948 TuBe NUT 3/16-9/16 - INV. 5 BR-7948-5 5
BR-7951 TuBe NuT 3/16-M10(L) - INV 5 BR-7951-5 5
BR-7955 TuBe NUT 3/16 - 7/16 INV 5 BR-7955-5 5
BR-7956 TuBe NuUT - 3/16 - 1/2 INV 5 BR-7956-5 5
BR-7958 TuBe NUT 1/4” X 9/16-18 INV 5 BR-7958-5 5
BR-7959 TuBe NuUT 1/4 X 1/2-20 INV 5 BR-7959-5 5
BR-1595A UNION 3/16 X M10Ox 1.0 Bus 5 BR-1595A-5 5
BR-300B UNION 3/16 X 3/8 - 24 INV 5 BR-300B-5 5
BR-300C UNION 1/4” X 7/16” - 24 INV 5 BR-300C-5 5
BR-300D UNION - 5/16” X 1/2” - 20 INV 5 BR-300D-5 5
BR-7934A UNION 3/16 X M10 x 1.0 INV 5 BR-7934A-5 5
BR-1442 ADAPTER - 3/8 INV X M10 BusB 5 BR-1442-5 5
BR-1443 ADAPTER - 3/8 INV X M 10 INV 5 BR-1443-5 5




DY-BSA-3

Brake Line Assortments
Bleeder Screw

Assortment includes bleeder screws, bleeder screw caps and copper washers
* 130 total pieces

* 24 parts numbers

Re-order Part # 9400-5

Bleeder Screw
3/8" 24 x 1.36

18

0184570399

|5

Re-order Part# 9401-5
Bleeder Screw
3/8” 24 x 147

I0|845

'70400" "8

7!

Re-order Part # 9402-10
Bleeder Screw
3/8"-24x1.11

Qty. 10
7040]'

5

Re-order Part # 9403-5
Bleeder Screw
5/16" 24 x1 .06

I0|845 '70402"

7!

Re-order Part # 9404-5
Bleeder Screw
1/47-28x .92

il

Re-order Part # 9405-5
Bleeder Screw
M8-1.25 X 23.55

ty. 5
845 || |

70404

s

Re-order Part # 9406-10

7M01845'

i

Bleeder Screw
M10-1.5x27.5

.10

'70405' '3

Re-order Part # 9407-5
Bleeder Screw
M10- 1 0 X 275

7041 6|

'01845'

Re-order Part # 9409-5
Bleeder Screw
M10- 1 0 X 3275

01845"7(

Re-order Part # 9410-5
Bleeder Screw
M10 1 0 x35

845 70406|

Re-order Part # 9411-5
Bleeder Screw
M7 x 1 00 24

; |

'01845'70407' "7

Re-order Part # 9412-5
Bleeder Screw
M10 K1 00 36.7

8ll3

018457041

Re-order Part # 9413-5

M7x10x3855

7101845

Bleeder Screw

70408’

|4

K

Re-order Part # 9415-5
Bleeder Screw
7/16"-20x1.28
7 |

Qty.5

0184570409'M1

Re-order Part # 9421-5
Bleeder Screw
M10x1.25-33.1

i

7

Re-order Part # 9422-5
Bleeder Screw
MBX1 25 31.6
B |

01845'70420" s

Re-order Part # 9428-5
Bleeder Screw
M8x1.25-35.3

.5
184517

0421

3

Re-order Part # 9430-5
Bleeder Screw
M8 x 1.l] - 26.4

B |

01845 70422|

Re-order Part # 9444-5

Bleeder Screw
1/8-27 x 31/32

Re-order Part # 9450-5

Bleeder Screw Cap

Re-order Part # 9451-5
Copper Washer
29/64 ID x1 1/15 0D

Re-order Part # 9452-5
Copper Washer
121D x 13/16 0D

O

Re-order Part # 9453-5
Copper Washer
25/64 1D x 5/8 0D

Re-order Part # 9454-5
Copper Washer
7/161Dx 13/16 0D

aty.5 aty.5 aty.5 aty.5
Qo wd | wi 0

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
9400 BLEEDER SCREW 3/8-24 X 1.36 5 9400-5 5
9401 BLEEDER SCREW 3/8-24 X 1.47 5 9401-5 5
9402 BLEEDER SCREW 3/8-24 X 1.11 10 9402-10 10
9403 BLEEDER SCREW 5/16’-24 x 1.06 5 9403-5 5
9404 BLEEDER SCREW 1/4-28 X .92 9404-5
9405 BLEEDER SCREW M8-1.25 X 23.55 9405-5
9406 BLEEDER SCREW M10-1.5 X 27.5 10 9406-10 10
9407 BLEEDER SCREW M10-1.0 X 27.5 5 9407-5 5
9409 BLEEDER SCREW M10-1.0 X 32.75 5 9409-5 5
9410 BLEEDER SCREW M10-1.0 x 35.0 5 9410-5 5
9411 BLEEDER SCREW M7 X 1.00 - 34MM 5 9411-5 5
9412 BLEEDER SCREW M10 X 1.00 - 36.7MM 5 9412-5 5
9413 BLEEDER SCREW M7 X 1.00 5 9413-5 5
9415 BLEEDER SCREW 7/16’-20 X 1.28 5 9415-5 5
9421 BLEEDER SCREW M10 X 1.25 - 33.1TMM 5 9421-5 5
9422 BLEEDER SCREW M8 X 1.25 - 31.6MM 5 9422-5 5
9428 BLEEDER SCREwW M8 X 1.25 - 35.3MM 5 9428-5 5
9430 BLEEDER SCREwW M8 X 1.00 - 26.4MM 5 9430-5 5
9444 BLEEDER SCREW 1/8 5 9444-5 5
9450 BLEEDER SCREW CAP 5 9450-5 5
9451 CoPPER WASHER 29/64 5 9451-5 5
9452 COPPER WASHER 1/2 5 9452-5 5
9453 CoPPER WASHER 25/64 5 9453-5 5
9454 CoOPPER WASHER 7/16 5 9454-5 5

16.

@JohnDowlndustries/dDHNDDW.coM




Fuel Line Assortments
Fuel Line Repair

Connectors, fittings and clamps for fuel line repair

e 23 parts numbers

* 86 total pieces

Re-order Part # BB-14-2
Splice Joiner For Nylon
1/4"
aty.2

U

7 517 3

Re-order Part # BB-38-5
Splice Joiner For Nylon

3/8"
| 018: 563|

7 45171 o

===

Re-order Part # BB-516-5
Splice Joiner For Nylon

5/16"

Qty.5
01845

7 7

Re-order Part # BR-62CNN-2
Compression Union - Nylon to Nylon
/4"

Qty.2

I0|845 '70556'

7 2

5/16"
aty.2

01845"70558'

7 s

Re-order Part # BR-62DNN-2

Compression Union - Nylon to Nylon

=

Re-order Part # BR-62ENN-2

Compression Union - Nylon to Nylon
ty.

3/8"
aty.2

01845 70560|

7 9

Re-order Part # BR-62CNS-2
Compression Union - Nylon to Steel
1/4"

Qty.

.2
I01845

70557|

7 9

Qty.5

0:
Re-order Part # BR-62DNS-2

Compression Union - Nylon to Steel

5/16”

ty.
01845170559

7 3

70564
(|
Re-order Part # BR-62ENS-2

Compression Union - Nylon to Steel

3/8"
i

ay.2
01845170561

7 s

.

Re-order Part # CS0-14-5
Clamp 360°
14"
Qty.

.5
IUT BJS ‘70565"‘

7 4

@

Re-order Part # 6S0-38-10
Clamp 360°

5/16"
1
1

aty. 10
0184570566/

7 1

@

Re-order Part # CS0-56-10
Clamp 360°

3/8”
1
1

Qty. 10
0184570567

7 '8

o

Re-order Part # OR-38-10
0-Ring
3/8”
aty. 10

7 |0184

2

tilin
o

Re-order Part # OR-516-10
0-Ring
5/16"

Qty. 10

Ll

7 7 '8

7 4

7! s

Re-order Part # TCB-610-2
Connector - 90°
3/8"x 3/8"
aty.2
TR

0184570572

7 2

Re-order Part # TCB-68-2
Connector 90°
3/8"x5/16"

aty.2

01845'70577'

7 7

70569"

Re-order Part # TCS-58-2
Connector - Straight
5/16" x 5/16”
aty.2

[

Re-order Part # TCS-610-2
Connector - Straight
3/8"x 3/8"

Qty.2

Connector 90°
5/16" x 3/8"
| M!AS 7!;‘5'7“
Connector - Straight
5/16"x 3/8"

Re-order Part # TCB-510-2
aty.2

Re-order Part # TGS-510-2
Qty.

Re-order Part # TCB-58-2
Connector 90°
Qty.2
|0|845 70571 |
Re-order Part # TCS-68-2
Connector - Straight
3/8"x5/16”

5/16" x 5/16"
aty.2

¥

Re-order Part # DT-1B-1
Disconnect Tool

o~V 1d-Ad

.2 a1
Il

70575

UL

7 5171 o 7 s

7 ImsAs 70573| 9 7 | 018451705741 s 7 I01845 3

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
BB-14 SPLICE JOINER FOR NYLON 1/4” 2 BB-14-2 2
BB-38 SpPLICE JOINER FOR NYLON 3/8” 5 BB-38-5 5
BB-516 SPLICE JOINER FOR NYLON 5/167 5 BB-516-5 5
BR-62CNN COMPRESSION UNION - NYLON TO NYLON 1/4” 2 BR-62CNN-2 2
BR-62DNN COMPRESSION UNION - NYLON TO NYLON 5/16”7 2 BR-62DNN-2 2
BR-62ENN CoMPRESSION UNION - NYLON TO NyYLOoN 3/8” 2 BR-62ENN-2 2
BR-62CNS COMPRESSION UNION - NYLON TO STEEL 1/4” 2 BR-62CNS-2 2
BR-62DNS COMPRESSION UNION - NYLON TO STEEL 5/16” 2 BR-62DNS-2 2
BR-62ENS COMPRESSION UNION - NYLON TO STEEL 3/8” 2 BR-62ENS-2 2
cCs0o-14 CLaMP 360° 1/4” 5 cCs0-14-5 5
cCs0-38 CLaMP 360° 5/16” 10 cCs0-38-10 10
Cs0-56 CLaMP 360° 3/8”7 10 Cs0-56-10 10
OR-38 O-RING 3/8” 10 OR-38-10 10
OR-516 O-RING 5/16” 10 OR-516-10 10
TCB-510 CONNECTOR 90° 5/167 x 3/8”7 2 TCB-510-2 2
TCB-58 CONNECTOR 90° 5/16”7 x 5/16”7 2 TCB-58-2 2
TCB-610 CONNECTOR 90° 3/8” x 3/8” 2 TCB-610-2 2
TCB-68 CONNECTOR 90° 3/8”7 X 5/167 2 TCB-68-2 2
TCS-58 CONNECTOR — STRAIGHT 5/16” X 5/16” 2 TCS-58-2 2
TCS-610 CONNECTOR - STRAIGHT 3/8” x 3/8” 2 TCS-610-2 2
TCS-510 CONNECTOR - STRAIGHT 5/167x 3/8” 2 TCS-510-2 2
TCS-68 CONNECTOR - STRAIGHT 3/8” X 5/16” 2 TCS-68-2 2
DT-1B DISCONNECT TOOL 1 DT-1B-1 1




DY-6000U

Auto Body Assortments

Domestic Retainer

Assortment includes retainer clips for domestic cars and light trucks

e 23 parts numbers

* 230 total pieces

Re-order Part # DYN-6001-10
Door Trim Panel Retainer GM
ty. 10

7|1 |

9

=

Re-order Part # DYN-6002-10
Radiator Apron Panel Retainer

Qty. 10

I01 845

70290'

7 5

Re-order Part # DYN-6003-10
Door Trim Panel Retainer GM

Qty.
T

7! >

Re-order Part # DYN-6005-10
Radiator Yoke & Fender Bumper
Qty. 10

LI

01845 70292|

7 9

(s

Re-order Part # DYN-6007-10
Weatherstrip Retainer Chrysler

Qty. 10

L

7 7 s

-

Re-order Part# DYN-6011-10
Trim Panel Saturn/Chrysler Minivan

Qty.
J

710 70294 '3

0184570289/

Re-order Part # DYN-6012-10
Rear Hood Seal GM
ty. 10

(T

01845/ 70295|

7 o

-

Re-order Part # DYN-6015-10

Ford Trim Panel Retainer

Qty. 10

I01 845

7 7

.10
845 7!)991
Re-order Part # DYN-6017-10

Trim Panel Ford Explorer Trunk

Qty. 10

Ll

7 7 4

=

Re-order Part # DYN-6018-10
Bumper Fascia Retainer GM
Qty. 10

| 1 £l

0184570298

7 1

Re-order Part # DYN-6019-10
Door Trim Panel Retainer Ford
Qty. 10

|1 99

01845702

7 's

.10
845/ |
Re-order Part # DYN-6027-10

Chrysler Fascia Retainer

7|1

v

Re-order Part # DYN-6037-10
Door Panel Retainer GM/Jeep
Qty. 10

0184570301

7 s

70296
|

Re-order Part # DYN-6038-10
Door Panel Retainer

Qty. 10

|01 845

7

7
|
|

Re-order Part # DYN-6045-10

‘Trim Panel Retainer Ford

Qty. 10

L

7 517 2

Re-order Part # DYN-6046-10
Trim Panel Retainer Ford/GM/Jeep

Qty. 10
JIn

ty.
01845 70304|

7 9

Re-order Part # DYN-6065-10

Shroud Vent Grill to Panel Retainer

Qty.
T

0 70305/ s

ty. 10
01845'70300'"1

Q
Re-order Part # DYN-6068-10

Bumper Fascia GM Minivan

Qty.
i

ity. 10
0184570306

7 3

>

Re-order Part # DYN-6079-10
Hood Insulation Retainer Clip

7030

Re-order Part # DYN-6086-10
Trim Panel Retainer GM

Re-order Part # DYN-6089-10

Door Trim Panel Retainer GM

Re-order Part # DYN-6091-10
Door Trim/Headliner Retainer GM

10
45 |

R -
e
1 s

Re-order Part # DYN-6092-10
Trim Panel Retainer GM Truck

Qty. 10 Qty. 10 Qty. 10 Qty. 10 aty. 10
MGAUR | DORGE | MWOTROO | NN ) e

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTYy.
DYN-6001 DooOR TRIM PANEL RETAINER - GM 10 DYN-6001-10 10
DYN-6002 RADIATOR APRON PANEL RETAINER 10 DYN-6002-10 10
DYN-6003 DooOR TRIM PANEL RETAINER - GM 10 DYN-6003-10 10
DYN-6005 RADIATOR YOKE & FENDER BUMPER 10 DYN-6005-10 10
DYN-6007 WEATHERSTRIP RETAINER - CHRYSLER 10 DYN-6007-10 10
DYN-6011 TRIM PANEL - SATURN/CHRYSLER MINIVAN 10 DYN-6011-10 10
DYN-6012 REAR HOOD SEAL - GM 10 DYN-6012-10 10
DYN-6015 FORD TRIM PANEL RETAINER 10 DYN-6015-10 10
DYN-6017 TRIM PANEL - FORD EXPLORER TRUNK 10 DYN-6017-10 10
DYN-6018 BUMPER FASCIA RETAINER - GM 10 DYN-6018-10 10
DYN-6019 DOOR TRIM PANEL RETAINER - FORD 10 DYN-6019-10 10
DYN-6027 CHRYSLER FASCIA RETAINER 10 DYN-6027-10 10
DYN-6037 DOOR PANEL RETAINER - GM/JEEP 10 DYN-6037-10 10
DYN-6038 DOOR PANEL RETAINER 10 DYN-6038-10 10
DYN-6045 TRIM PANEL RETAINER - FORD 10 DYN-6045-10 10
DYN-6046 TRIM PANEL RETAINER - FORD/GM/JEEP 10 DYN-6046-10 10
DYN-6065 SHROUD VENT GRILL TO PANEL RETAINER 10 DYN-6065-10 10
DYN-6068 BUMPER FASCIA - GM MINIVAN 10 DYN-6068-10 10
DYN-6079 HOOD INSULATION RETAINER CLIP 10 DYN-6079-10 10
DYN-6086 TRIM PANEL RETAINER - GM 10 DYN-6086-10 10
DYN-6089 DoOOR TRIM RETAINER - GM 10 DYN-6089-10 10
DYN-6091 DOOR TRIM/HEADLINER RETAINER - GM 10 DYN-6091-10 10
DYN-6092 TRIM PANEL RETAINER - GM TRUCK 10 DYN-6092-10 10

@JohnDowlndustries/dDHNDDW.coM




Master Trim Screw

Most popular trim screws including Phillips, Torx and TEK.
* 24 parts numbers

Auto Body Assortments

* 240 total pieces

{

Re-order Part # DYN-6313-10
Phillips Oval HD Wheel Opening
8x1/2" - Chrome

aty. 10
L

018457031

7 4

e

Re-order Part # DYN-6314-10
Phillips Oval Screw
8x1/2" - Black
Qty. 10
| ‘ ||U

T

1

-

Re-order Part # DYN-6315-10
Phillips Oval Washer Head
8x3/4” - Black

4 |

01845 s

owon

Re-order Part # DYN-6316-10

Indented Hex Head Tek Screw

8x1/2" - Zinc
7| |

5

i~ g

Re-order Part # DYN-6317-10
Phillips Oval HD Sheet Metal Screw
8x3/4” - Chrome
aty. 10

DI

7 7 2

o

Re-order Part # DYN-6318-10
Phillips Oval HD Sheet Metal Screw
8x1" - Chrome

4 |

9

Re-order Part # DYN-6319-10
Phillips HD Sheet Metal Screw
8x1-1/4" - Chrome
aty. 10

S

Re-order Part # DYN-6320-10
Phillips Oval HD Sheet Metal Screw
10x 1" - Chrome

Qty. 10

‘! 7!)31 4
Re-order Part # DYN-6321-10
Phillips Oval HD Sheet Metal Screw
8 x3/4” - Black
aty. 10

Qty. 10
Re-order Part # DYN-6322-10

'01845'70315
Phillips Oval HD Sheet Metal Screw
8x1” - Black

o

Re-order Part # DYN-6323-10

Phillips Pan HD Sheet Metal Screw - Blk

8x3/4” - Black
aty. 10

Qty. 10
U
Re-order Part # DYN-6324-10

Phillips Pan HD Sheet Metal Screw - Blk
8x1” - Black

Qty. 10 aty. 10 aty. 10
7 |01345 '70318" "6 7 |01BJ5 70319' 3 7 | 01845/ 70320| 9 7 |01545 70321" s 7 | 0|8J5 70311 3 7 |01BJ5 703l3| 0
Lot =
Py " TR g oo ‘—u-

Re-order Part # DYN-6325-10
Metric Torx Trim Screws - GM
4.2-1.41 x 30mm 7mm head

aty. 10
|o1a4

5170324'

7 7

Re-order Part # DYN-6326-10
Metric Torx Trim Screws - GM
4.2-1.41 x 30mm 7mm head

aty. 10
|c|J|1‘

7

Re-order Part # DYN-6327-10
Metric Torx Trim Screws - GM
4.2-1.41 x 30mm 8mm head

aty. 10
| 01845170326/

7 1

Re-order Part # DYN-6328-10
Metric Torx Trim Screws - GM
4.2-1.41 x 25mm 8mm head

aty. 10

'01845'70327'

7 '8

Re-order Part # DYN-6329-10
Tek Screw 12mm OD Loose Washer
4.2-1.14x 20mm

.10

7101845/ 5

Re-order Part # DYN-6330-10
Tek Screw 12mm OD Loose Washer
4.2-1.14 x 20mm

ty. 10

7101845’ 2

-

Re-order Part # DYN-6331-10
Phillips Flat Top Washer Head - GM

845170325114
Re-order Part # DYN-6332-10
Phillips Flat Top Washer Head

e

Re-order Part # DYN-6333-10
Phillips Black Trim Screw

-

Re-order Part # DYN-6334-10
Phillips Flat Top Washer Head

70328

Re-order Part # DYN-6335-10

Indented Hex Head Tek Screw

[l
70329°
{
ey
: AT

Re-order Part # DYN-6336-10

License Plate Zinc 1/2" Washer

00E4L-Ad

8x1/2" 8 x3/4” - Black 8x3/4” - Black 10 x 3/4” - Black 8x3/4" - Zinc 1/4” (#14) x 3/4”
Qty. 10 Qty. 10 Qty. 10 Qty. 10 Qty. 10 Qty. 10
OOORL | DDA MOVDURIN Ny O R

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
DYN-6313 PHILIPS OvAL HD 8 X 1/2 - CHROME 10 DYN-6310-10 10
DYN-6314 PHILIPS OVAL SCREW BLACK 8 X 1/2 - BLACK 10 DYN-6314-10 10
DYN-6315 PHILIPS OVAL WASHER HEAD 8 X 3/4 - BLACK 10 DYN-6315-10 10
DYN-6316 INDENTED HEX HEAD TEK ScCREwW 8 X 1/2 ZINC 10 DYN-6316-10 10
DYN-6317 PHILIPS OVAL HD SHT MET ScrRw 8 X 3/4 - CHROME 10 DYN-6317-10 10
DYN-6318 PHILIPS OvAL HD SHT MET ScRw 8 X 1 CHROME 10 DYN-6318-10 10
DYN-6319 PHILIPS OVAL HD SHT MET ScR 8 X 1-1/4 CHROME 10 DYN-6319-10 10
DYN-6320 PHILIPS OvAL HD SHT MET ScRw 10 X 1 CHROME 10 DYN-6320-10 10
DYN-6321 PHILIPS OVAL HD SHT MET ScRw 8 X 3/4 - BLACK 10 DYN-6321-10 10
DYN-6322 PHILIPS OvAL HD SHT MET ScRw 8 X 1 - BLACK 10 DYN-6322-10 10
DYN-6323 PHILIPS PAN HD SH TMET ScrRw-BLK 8 X 3/4 - BLACK 10 DYN-6323-10 10
DYN-6324 PHILIPS PAN HD SHT MET SCRw-BLK 8 X 1 - BLACK 10 DYN-6324-10 10
DYN-6325 MET TORX TIM SCREWS-GM 4.2-1.41 X 30MM 10 DYN-6325-10 10
DYN-6326 MET TORX TRIM SCREWS-GM 4.2-1.41 X 30MM 10 DYN-6326-10 10
DYN-6327 MET TORX TIM SCREWS-GM 4.2-1.41 X 30MM 10 DYN-6327-10 10
DYN-6328 MET TORX TRIM SCREWS-GM 4.2-1.41 X 25MM 10 DYN-6328-10 10
DYN-6329 TEK SCREW 12MM OD WASHER 4.2-1.14 X 20MM 10 DYN-5329-10 10
DYN-6330 TEK SCREW 12MM OD WASHER 4.2-1.14 X 20MM 10 DYN-6330-10 10
DYN-6331 PHILIPS FLAT TOP WASHER HEAD-GM 8 X 1/2 10 DYN-6331-10 10
DYN-6332 PHILIPS FLAT TOP WASHER HEAD 8 X 3/4 - BLACK 10 DYN-6332-10 10
DYN-6333 PHILIPS BLACK TRIM SCREW 8 X 3/4 - BLACK 10 DYN-6333-10 10
DYN-6334 PHILIPS FLAT TOP WASHER HEAD 10 X 3/4 - BLACK 10 DYN-6334-10 10
DYN-6335 INDENTED HEX HEAD TEK ScCREw 8 X 3/4’ - ZINC 10 DYN-6335-10 10
DYN-6336 Lic PLT SCRW 1/2 WASHER 1/4 1/4 (#14) X 3/4 10 DYN-6336-10 10




DY- /7400

Auto Body Assortments
Master Body Bolt

Assortment includes body bolts, u-nuts and sheet metal screws
* 235 total pieces

e 24 parts numbers

Frammen

Re-order Part # DYN-6337-10
Metric Dog Point Body Bolt 19mm
1. 00 X 22mm

i

'70336""0

h

v
Re-order Part # DYN-6338-10
Metric Dog Point Body Bolt 19mm
1.00 x 28mm
Qty. 10

01845 70337

7

Re-order Part # DYN-6339-10
Metric Dog Point Body 3/4"
14 20 x 15/1 6

| 4

7|1

0184570338’

Re-order Part # DYN-6340-10
Metric Hex Flange Nut Black 11.8mm
BUmm

7 I01845 1

70339

Re-order Part # DYN-6341-10
Metric Type CA Body Bolt 17mm
1. UO X ZUmm

7 |

—

Re-order Part # DYN-6342-10
Metric Type CA Flange Bolt 13mm
1.00 x 20mm

‘4

Qty. 10
I

01845'70: 1|

Re-order Part # DYN-6343-10
Metric Type CA Body Bolt 24mm
1. 00 X 25mm

E |

18:

01845703421

q_

Re-order Part # DYN-6344-10
Metric Type CA Body Bolt 17mm
1. UU X 35mm

7'101845"70343""8

Re-order Part # DYN-6345-10
Metric Type CA Body Bolt 17mm
1.00 x 25mm

Wil

=

Re-order Part # DYN-6346-10
Extruded U-nut Black 17/32” - M6x1.0 Hole

Qty. 10
I

2

01845170340 /l7
Re-order Part # DYN-6347-10
Extruded U-nut Black 25/32" - M6x1.0 Hole

10
7|| |

9

O

Re-order Part # DYN-6348-10
Metric Hex Nut Black 16mm 0.D.

Qty. 10
IDT 545”70

3471

7 s

Re-order Part # DYN-6349-10
Metric Type CA Body Bolt 24mm
1.25 X 25mm

7 |

Re-order Part # DYN-6350-10
Metric Type CA Body Bolt 17mm
1. 25 x 30mm

0349|

01845 7

Re-order Part # DYN-6351-10
Sheet Metal Screws Black 17mm
Qty. 1

(R

[
0184570350'

7 s

0184570345
(]

s

Re-order Part # DYN-6352-10
Sheet Metal Screws Black 11/16”
Qty. 10

I0184

5170351

7 3

aty.
0184570346/

Re-order Part # DYN-6353-10
Metric Type CA Body Bolt 28mm
1. 25 X SUmm

1

01845 70352|

7 o

A

Re-order Part # DYN-6354-10
Extruded U-nut Black 9/16" - M8x1.25 Hole

ity. 10
7 I01545 70

01845170348 '3
Re-order Part # DYN-6355-10
[Extruded U-nut Black 13/16” - Mx1.25 Hole;

Re-order Part # DYN-6356-10
Metric Hex Nut Black 24mm 0.D.

Re-order Part # DYN-6357-5
Metric Type CA Body Bolt 28mm

Re-order Part # DYN-6358-10
Extruded U-nut Black 3/4” - M10x1.5 Hole

Re-order Part # DYN-6359-10
Metric Hex Flange Nut Black 21mm

35317

Re-order Part # DYN-6360-10
Metric Type CA Body Bolt 16mm

1. 25mm 13mm hex 1. 50x40mm 10 x1 5mm 1. 25 x25mm
Qty. 10 Qty. 10
i, | il | | b | i

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
DYN-6337 MET DoOG POINT BoDY BOLT 19MM 10 DYN-6337-10 10
DYN-6338 MET DoOG POINT BoDY BOLT 19MM 10 DYN-6338-10 10
DYN-6339 MET DoOG POINT Boby BoLt 3/4 10 DYN-6339-10 10
DYN-6340 MET HEX FLANGE NUT BLK 11.8MM 10 DYN-6340-10 10
DYN-6341 METRIC TYPE CA BobDY BOLT 17MM 10 DYN-6341-10 10
DYN-6342 MET TYyPE CA FLANGE BOLT 13MM 10 DYN-6342-10 10
DYN-6343 METRIC TYPE CA BoDY BOLT 24MM 10 DYN-6343-10 10
DYN-6344 METRIC TYPE CA BobDY BOLT 17MM 10 DYN-6344-10 10
DYN-6345 METRIC TYPE CA BobDY BOLT 17MM 10 DYN-6345-10 10
DYN-6346 EXTRUDED U-NUT BLK 10 DYN-6346-10 10
DYN-6347 EXTRUDED U-NUT BLK 10 DYN-6347-10 10
DYN-6348 METRIC HEX NUT BLACK 16MM O.D. 10 DYN-6348-10 10
DYN-6349 METRIC TYPE CA BoDY BOLT 24MM 10 DYN-6349-10 10
DYN-6350 METRIC TYPE CA BobDY BoOLT 17MM 10 DYN-6350-10 10
DYN-6351 SHEET METAL SCREWS BLACK 17MM 10 DYN-6351-10 10
DYN-6352 SHEET METAL SCRwWS BLK 11/16 10 10 DYN-6352-10 10
DYN-6353 METRIC TYPE CA BoDY BoOLT 28MM 10 DYN-6353-10 10
DYN-6354 EXTRUDED U-NUT BLK 10 DYN-6354-10 10
DYN-6355 EXTRUDED U-NUT BLK 10 DYN-6355-10 10
DYN-6356 METRIC HEX NUT BLACK 24MM 0O.D. 10 DYN-6356-10 10
DYN-6357 METRIC TYPE CA BobDY BoOLT 28MM 5 DYN-6357-5 5
DYN-6358 EXTRUDED U-NUT BLK 10 DYN-6358-10 10
DYN-6359 METRIC HEX FLANGE NUT BLK 21MM 10 DYN-6359-10 10
DYN-6360 METRIC TYPE CA BoDY BOLT 16MM 10 DYN-6360-10 10

20.

@JohnDow‘lndustries/dDHNDDW.coM




Auto Body Assortments

Door Linkage Rod & Clip

Most popular door lock rod clips for Chrysler, GM and Ford vehicles
* 21 parts numbers

* 63 total pieces

7 4

Re-order Part # DYN-H1215-3
Door Lock and Tailgate Clip

\/Ford
iy

3
” 7!)‘4‘{‘5UI

Qty.
7101845’

Re-order Part # DYN-H1217-3
Door Lock Rod Clip

Ford
aty.
[

3
D|8J

7 5

Re-order Part # DYN-H1218-3
Door Lock Rod Clip
GM/Ford - Right Side

il

5’ 70!70

7 1

Re-order Part # DYN-H1219-3
Door Lock Rod Clip
Ford - Right Side

7 U s

Re-order Part # DYN-H1220-3
Door Lock Rod Clip
GM/Ford

ty.

Qty.3

'01845'70472'

7 5

Re-order Part # DYN-H1214-3
Door Lock Rod Clip
Ford-Left Side

oty.3

| 01845’ 70466|
Re-order Part # DYN-H1221-3
Door Lock Rod Clip

Chry - Left Side

aty.3

0184570473

7 2

L.

Re-order Part # DYN-H1222-3
Door Lock Rod Clip
GM/Chry - Left Side

Qty.3
In”s'As ” |

70A74|

7 &

Re-order Part # DYN-H1223-3
Door Lock Rod Clip
GM - Right Side
Qty.

.3

0184570475

7 s

Re-order Part # DYN-H1224-3
Door Lock Rod Clip
GM - Right Side
ty.

Qty.3

'0184570476

7 3

aty.3

[
Re-order Part # DYN-H1225-3

Door Lock Rod Clip
GM - Left/Right Side
aty.3

DN

7 5

Re-order Part # DYN-H1226-3
Door Lock Rod Clip
GM/Chry - Right Side

ty.

7 7

Re-order Part # DYN-H1227-3
Door Lock Rod Clip
GM - Left Side
Qty.

.3

'0184570479'

7 4

=3

Re-order Part # DYN-H1228-3
Door Handle Rod Clip
GM - 6mm Hole
ty.

Qty.3

'01845'70480

7 o

Re-order Part # DYN-H1229-3
Door Handle Rod Clip
Chry - Left Side

aty.3

0184570481

7 7

Re-order Part # DYN-H1230-3
Sliding Door Lock Rod Clip
Chry Van - Left Side

aty.3

01845170482!

7 la

Re-order Part # DYN-H1231-3
Door Lock Rod Clip
Chry - Left Side
oty.3

70483

7101845/ 1

Qty.3
01845170478
J‘r
Re-order Part # DYN-H1232-3
Door Lock Rod Clip
Chry - Right Side
ty.

Qty.3
I01545

70484

7 '8

Re-order Part # DYN-H1233-3
Door Lock Rod Clip
Chry - Right Side

Re-order Part # DYN-H1234-3
Door Lock Rod Clip
Chry - Right Side

Re-order Part # DYN-H1235-3
Door Lock Rod Clip
Chry - Right Side

Pc-J1a-Ad

aty.3 aty.3 aty.3
7 |o1345 70455' s 7 | 1[”1‘!!4! 7!)‘!![ > 7 le!AU 7!)‘!‘:‘3“‘”9

PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTYy. PART NO. QTY.
DYN-H1214 DooOR LOcK CLIP - FORD LEFT SIDE 3 DYN-H1214-3 3
DYN-H1215 DOOR LOCK AND TAILGATE CLIP - GM/FORD 3 DYN-H1215-3 3
DYN-H1217 DooR Lock ROD CLIP - FORD 3 DYN-H1217-3 3
DYN-H1218 DOOR Lock ROD CLIP - GM/FORD RIGHT SIDE 3 DYN-H1218-3 3
DYN-H1219 DooOR LoOck ROD CLIP - FORD RIGHT SIDE 3 DYN-H1219-3 3
DYN-H1220 DooR Lock RoD CLiP - GM/FORD 3 DYN-H1220-3 3
DYN-H1221 DoOOR LOck ROD CLIP - CHRYSLER LEFT SIDE 3 DYN-H1221-3 3
DYN-H1222 DoOoOR Lock RoOD CLIP - GM/CHRY LEFT SIDE 3 DYN-H1222-3 3
DYN-H1223 DooOR LOck ROD CLIP - GM RIGHT SIDE 3 DYN-H1223-3 3
DYN-H1224 DooOR Lock ROD CLIP - GM RIGHT SIDE 3 DYN-H1224-3 3
DYN-H1225 DooOR LOck ROD CLIP - GM LEFT SIDE 3 DYN-H1225-3 3
DYN-H1226 DoOOR Lock ROD CLIP - GM/CHRY RIGHT SIDE 3 DYN-H1226-3 3
DYN-H1227 DooR Lock RoOD CLIP - GM LEFT SIDE 3 DYN-H1227-3 3
DYN-H1228 DoorR HANDLE RoD CLIP - GM 6MM HOLE 3 DYN-H1228-3 3
DYN-H1229 DooR HANDLE ROD CLIP - CHRY LEFT SIDE 3 DYN-H1229-3 3
DYN-H1230 SLIDING DOOR LOCk ROD CLIP - CHRY VAN LS 3 DYN-H1230-3 3
DYN-H1231 DoOOR LOck ROD CLIP - CHRYSLER LEFT SIDE 3 DYN-H1231-3 3
DYN-H1232 DooOR LOck ROD CLIP - CHRYSLER RIGHT SIDE 3 DYN-H1232-3 3
DYN-H1233 DooOR LOck ROD CLIP - CHRYSLER RIGHT SIDE 3 DYN-H1233-3 3
DYN-H1234 DooOR LOck ROD CLIP - CHRYSLER RIGHT SIDE 3 DYN-H1234-3 3
DYN-H1235 DoOOR LOckK ROD CLIP - CHRYSLER RIGHT SIDE 3 DYN-H1235-3 3




DY-VT-2335

Miscellaneous Assortments

Vacuum Tee

Most popular tee connectors, splice connectors and vacuum caps

* 24 parts numbers

* 118 total pieces

Re-order Part # DY-3001B-5
Vacuum Tee
1/8x1/8x1/8

Qty.5
il

01845

7/ 9

Re-order Part # DY-3002B-5
Vacuum Tee
3/16x3/16x3/16

ty.5

Q

0184570628

7 s

i. -
| |
Re-order Part # DY-3003B-5

Vacuum Tee
1/4x1/4x1/4
Qty. 5

NNV

517 '3

Re-order Part # DY-3004B-5
Vacuum Tee
5/16x5/16 X 5/16
Qty. 5

0184570

7 630" 9

Re-order Part # DY-3005B-5
Vacuum Tee
3/8x3/8x3/8

Qty.5
70631

01845'

7! s

i g

]

Re-order Part # DY-3006B-5
Vacuum Tee
3/16x1/8 X 3/16
Qty. 5

|D1

70632

7101845 3

Re-order Part # DY-3007B-5

Re-order Part # DY-3009B-5

T

Re-order Part # DY-3010B-5

Re-order Part # DY-3011B-5

Re-order Part # DY-3013B-5

Re-order Part # DY-3014B-5

Vacuum Tee Vacuum Tee Vacuum Tee Vacuum Tee Hose Splice Hose Splice
1/8x1/8x3/16 3/16x3/16x 1/4 3/16x3/16x 1/8 3/8x1/4x3/8 1/8x1/8x1/8 3/16x 3/16
aty.5 Qty.5 aty.5 ty.5 aty.5 ty.5
7 |0\ 845 70633| 0 7! ﬂ”UA‘L UU(‘SUA 7 7 | ﬂ”l!‘JU 7!)”53”5' 4 7 | l|)‘||‘!4|5 7!)”63“6 1 7 | 0”!45 7!)637 8 7 ”JUL'UU U!)Hﬁtil 5
o ) v —_— == ===
Re-order Part # DY-3015B-5 Re-order Part # DY-3016B-5 Re-order Part # DY-3017B-5 Re-order Part # DY-3018B-5 Re-order Part # DY-3019B-5 Re-order Part # DY-3020B-5
Hose Splice Hose Splice Hose Splice Hose Splice Hose Splice Hose Splice
1/4x1/4 5/16x 5/16 3/8x3/8 1/8x3/16 1/8x1/4 3/16x1/4
Qty.5 aty.5 Qty.5 aty.5 Qty.5 aty.5
7! | O‘UI!UU 7‘!)”63‘9‘ 2 7 | ﬂ”!UU U!JHUHD‘ 8 7! | O‘l‘li!‘zlls‘ 7"0”6‘4“ 5 7 |01845 70642712 7! | O‘U!‘JU 7"@"(‘3‘43" 9 7 “JN!UE jM! 6

—

Re-order Part # DY-3021B-5

Re-order Part # DY-3023B-5

Rl

Re-order Part # DY-3024B-3

Re-order Part # DY-3025B-5

-order Part # DY-3026B-5

=
g

Re-order Part # DY-3029B-5

Hose Splice Four-Way Tee Five-Way Tee Vacuum Cap Vacuum Cap Vacuum Cap
3/8x1/4x3/8 3/16” 3/16” 3/16 1D 1/41D 5/16 ID
Qty.5 Qty.5 Qty.3 Qty.5 Qty.5 Qty.5
[ Ji,
PART ASSMT. REFILL REFILL
NoO. DESCRIPTION QTY. PART NO. QTY.
DY-3001B VAcuuM TEE 1/8 X 1/8 X 1/8 5 DY-3001B-5 5
DY-3002B VACUuM TEE 3/16 X 3/16 X 3/16 5 DY-3002B-5 5
DY-3003B VACUUM TEE 1/4 X 1/4 X 1/4 5 DY-3003B-5 5
DY-3004B VACUUM TEE 5/16 X 5/16 X 5/16 5 DY-3004B-5 5
DY-30058B VAcuuM TEE 3/8 X 3/8 x 3/8 5 DY-3005B-5 5
DY-30068B VAcuuM TEE 3/16 X 1/8 X 3/16 5 DY-30068B-5 5
DY-30078B VACcuuM TEE 1/8 Xx1/8 X 3/16 5 DY-3007B-5 5
DY-3009B VACUUM TEE 3/16 X 3/16 X 1/4 5 DY-3009B-5 5
DY-3010B VAcuuM TEE 3/16 X 3/16 X 1/8 5 DY-3010B-5 5
DY-3011B VACcUuuM TEE 3/8 X 1/4 x 3/8 5 DY-3011B-5 5
DY-3013B Hose SpPLICE 1/8 X 1/8 X 1/8 5 DY-3013B-5 5
DY-3014B HoseE SPLICE 3/16 X 3/16 5 DY-3014B-5 5
DY-30158B HOseE SPLICE 1/4 X 1/4 5 DY-3015B-5 5
DY-30168B HOseE SPLICE 5/16 X 5/16 5 DY-3016B-5 5
DY-30178B Hose SpPLICE 3/8 X 3/8 5 DY-3017B-5 5
DY-3018B HoseE SPLICE1/8 X 3/16 5 DY-3018B-5 5
DY-3019B HoseE SPLICE 1/8 X 1/4 5 DY-3019B-5 5
DY-3020B HoseE SPLICE 3/16 X 1/4 5 DY-3020B-5 5
DY-30218B Hose SpPLICE 3/8 X 1/4 x 3/8 5 DY-3021B-5 5
DY-30238B FOUR-WAY TEE 3/16” 5 DY-3023B-5 5
DY-3024B FIVE WAY TEE 3/16” 3 DY-3024B-3 3
DY-30258B VACUuM CAP 3/16 ID 5 DY-30258B-5 5
DY-30268B VACuUuM CAP 1/4 1D 5 DY-3026B-5 5
DY-3029B VAcuuM CAP 16 ID 5 DY-3029B-5 5

22.

@JohnDowlndustries/dDHNDDW_coM




Optional Storage Solutions

For more information on all of the JohnDow service parts and other
storage solutions, visit our website at
www.johndow.com

SCCEC REEEEEEEEEEaEEE RhEs
SoOOc EREEEECEEEEEEE LSS
e e e e e e e 3 i ke e HHB
HadEE SEEEEEE i









